H/wooqu CHav RoLE Prroae

Lo 42 IR~ IR™ e Hfpulidl b e | g R™—=>IRE dfpu bty i 4= f0>

[ ¢ :D‘f:[x)/ T= Dﬁ [3\ :
VAR D%O{')(x) = T o

e
AT

Weite Fleeh)s Jx)+ Slh)+ £ (n)ln) )
T B ()= 0 | E o
By "y ol | L E b0 (T

oy g (gekY= gy e TC« £, (k) &S
et [":\2 (17_)':.0/ L, Ez Oz): 0 @

h=20

Lo kL)y= C(L)< E (b)) ikl
R N N [T DI

Inl
b)) @ Clvyon §CRY o o5
O Jewy] 5w

e,

N

e le W]

[E =0 anlb>0 spalbu o lLlcs
l% S(M: “tLl*'—'+“uLn (., LS—('E‘)"‘ S J"“tz*h'*“q'z é? CM"XM/
pr bk

(W]

a2



%(.de\)} ($(x)) = 3(7£m+uu> g (F>) L, 4

:ﬁ/(ﬁ/p,{{ﬂ TCh))e B, (kWYY ()] =52 46)) é* *sy

= TSN+ [WITCE (vy) « [ktd] £ (k (1) L
tlwnl 4 T
g (fleet)) = o (1)) — TUs(oY) g T
[h] -
= (A (:«))/4&.p (um)x “l/\
/ ( I bkl Ll ©
20 also SN .
e b 20
T%&w@z b @ ad b ®

gla- D(5a§>(>c> = TOS WLW ‘

s 5 (fGe k) = 4050 € SC0Y+ ronr)

[ ———

:9(?(»5))-{4 T"(S'(ly);{'%ﬁl\f/) t Tiny

2g(f6<)) « (L)) = Tymy

(m_ T(TM/Y) - TINVNY = TINVT >

Ly > gl enfly iy Sk T

am—



